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101.

102.

1103.

104.

105.

106.

107.

Paper - 11
GENERAL AWARENESS

Which is the largest river of Indian sub-continent?

(o) Ganges ®) Indus

(C) Kaveri (D) Godavari

What is the most abundant element in atmosphere?

(A) Oxygen (B) Nitrogen
(C) Neon (D) Ozone
Liverdigests
(A) Water (B) Amino acids
(C) Fats (D) Proteins

Monetary policy of India is formulate& by:
(A) Reserve Bank of India (B) SEBI
(C) CLB (D) Finance Ministry '

The folk dance ‘LAVANT is associated with the State of:
(A) Gujarat (B) Maharashtra

(C) Kerala D) Goa

In which year the first battle of Tarain was fought?

(A) 1100 B) 1291 ' (Cy 1391 * (D)
The Constitution is the longest in the world.
(A) American (B) Pakistani (C) Indian (D)

1191

Canadian
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108. Who designed the ‘Statue of Unity’ in Gujarat?
(A) dJakanachari (B) V. Balan
(C) Ram Vanji Sutar (D) Sankho Chaudhuri

109. Who is known as the Father of Zoology?
(A) Aristotle (B) Socretese
(C) Plato (D) Alexander Fleming

110. A massive sun temple dedicated to Sun God is situated in

(A) Karnataka (B) Kerala

(C) Odisha (D) Madhya Pradesh
111: : is the harvest festival of South India.

(A) Pongal (B) Hampi - (C) Diwali (D) Onam
112. In India, the President holds office for a period of years.

A 7 B) 5 C) 6 (D) 4

113. In which year was the Reserve Bank of India established under the Reserve Bank Act?
(A) 1960 (B) 1947 (C) 1935 (D) 1957
L]

114. Which of the following is/are the session/sessions of Parliament?
(A) Monscon session (B) Winter session

(C) Budget session (D) All of these

115.  Who founded the Vikramsila University?
(A) Gopala (B) Devpala . (C) Karna (D) Dharampala

116. Which of the following is related to Blue Revolution?
(A) Irrigation (B) Fishing
(C) Agriculture | (D) Rubber cultivation
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124.

Brain receives and send signals in the form of
(A) Chemical impulses (B) Magnetic impulses
(C) Mechanical impulses (D) Electrical impulses

Due to which phenomenon of light soap bubbles look colourful in the white light?

A) Diffraction (B) Scattering (C) Reflection (D) Interference

The term ‘liacker’ was originally associated with which of the following:
(A) A computer program

(B) Virus

(C) Computer professionals who solve& complex computer problems

(D) All options are correct

Which of the following is related to the flagship scheme of the Govt. UDAN’?

'(A) Agriculture (BY Civil Aviation

(C) Defence - (D) Social Justice

Thomas Alva_Edison discovered electric lamp. Edison was a/an scientist.
(A) British. _(B) American (C) French (D) German

Who was the first Indian to get the Oscar for lifetime achievements in the field of Cinema?

(A) Satyajit Ray (B) Anil Kapoor
(C) Kishore Kumar (D) Bimal Roy

The book ‘My Music, My Life’ is the autebiography of:

" (A) Anushka Shankar (B) Ravi Shankar

(C) Zakir Hussein ' (D) Sankar Mahadevan

is the leading coffee producer State in India.
(A) Maharashtra (B) Karnataka (C) Kerala (D) Assam
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125.

126..

127.

128.

129.

130.

131.

132.

The spinal chord originates from:

- (A) Cerebellum (B) Medulla (C) Pons (D) Cerebrum

Bronze is the alloy of:
(A) Zinc and iron (B) Iron and mercury

(C) Copper and tin | (D) Tinsud sitie

Who was the first Indian athlete to reach the final of an Olympic event?
(A) Surjit Singh (B) Michael Kindo
(C) Milka Singh (D) P.T. Usha

Which is the oldest hockey tournament in India?
(A) Nehru Cup (B) Durand Cup
(C) Beighton Cup (D) Ramaswamy Cup

Which of these State was not divided in 20007
(A) Maharashtra (B) Madhya Pradesh
(C) - Uttar Pradesh | (D) Bihar

Kamalnath was the Chief Minister of: .
(A) Maharashtra (B) Uttar Pradesh
(C) Madhya Pradesh (D) Rajasthan

India’s first self made fighter jet is:
(A) LCA Tejas (B) Dasault Rafale
(C) Dessault Mirage 2000 (D) MiG 21

Who was the first Indian to go into the space?
(A) Rakesh Sharma (B) Kalpana Chawla
(C) Ravish Malhotra (D) Sunita-Williams

JSA-II
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134.

135.
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138.

139.

140.

141.

Who wrote the book ‘God of Small Things'?
(A) M. T. Vasudevan Nair :
(C) 0.V.Vijayan

Natural source of Vitamin C is:
(A) Guava
(C) Apple

(B) Sashi Tharoor
(D) Arundhathi Roy

(B) Spinach
(D) All of the options

On which of the following river banks the city of Agra located?

(A) Tapti (B) Yamuna

(C) Ganges

Michael Phelps of United States is famous for:

(A) Swimming (B) High Jump
Who wrote the book “Two leaves and a bud’?

(A) Partha Chatterjee
(C) Mulk Raj Anand

Who wrote the book ‘A Suitable Boy’?
(A) - Arundhathi Roy
(C) Nirad Chaudhuri

Name the present Vice-President of India?
(A) Dr. Nejma Heptullah
(C) Venkiah Naidu

Recently Article

(C) Pole Vault

(B) U.S. Chellappa
(D) V.S. Naipaul

(B) V.S. Naipaul
(D) Vikram Seth

(B) Ram Nath Kovind

_(D) Farooq Abdullah _

Kashmir was removed by Indian Parliament.

(A) 370 (B) 368

Who is the present President of BCCI?
(A) Kapil Dev
(C) N. Srinivasan

11

(C) 371 (D) 369

(B) Venkatesh Prasad
(D) Sourav Ganguly

(D) Sabarmati

(D) Horse riding

of the Indian Constitution pertaining to Jammu and

JSA-II
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142.

143.

144.

145.

146.

147.

148.

149.

150.

is the 2rd largest Steel producer in the world.
(A) China (B) USA - (C) Canada (D) India

Present Union Minister for Science and Technology is: -
(A) Smt. Smriti Irani (B) Dr. Harsh Vardhan
(C) Dharmendra Pradhan (D) Nirmala Sitaraman

Govt. of India present its Annual Budget in the month of
(A) January (B) March (C) April (D) February

Who is appointed as the Chief of Defence Staff of India?
(A) General Bipin Rawat (B) Manoj Mukund Naravane

(C) Karambir Singh _ (D) Rakesh Kumar Singh Bhadauria
Lok Sabha has elected members
(A) 543 (B) 542 (C) 540 - (D) 545

Who is the present Chairman of State Bank of India?
(A) Arundhati Bhattacharya (B) Dinesh Kumar Khara
(C) Rajnish Kumar (D) Aditya Puri

Who is the present Director-General of Council of Scientific and Industrial Research?
(A) Dr.T. Ramasamy (B) R.A. Mashelkar
(C) Girish Sahni (D) Dr. Sekhar Mande

National Chemical Laboratory is situated at
(A) Chennai (B) Bhubaneswar (C) Pune (D) Lucknow

Who is the present Sécretary General of United Nations?
(A) Antonio Guteress (B) Ban Ki-moon
(C) XKofi Annan (D) Filippo Grandi

13 JSA-II




151.

ENGLISH LANGUAGE

Read each sentences given below to find out if there is any grammatical error in
it. The error, if any, will be in one part of the sentence. The number of that part is

the answer. If there is no error, the answer may be marked as (4).

According to economists not more than five percent (1)/ of education loans taken (2)/ are

overdue (3).

oy 1 - ®B) 2

152.

153.

154.

155.

JSA-II | 14

© 3 , D) 4

Wheat productions in the region will fall drastically (1)/ unless we do anything (2)/ to stop °
climate change (3). .

A 1 ® 2
© 3 ' (D) 4

A representative of the Bank will provide students an (1)/ insight into the (2)/ economic

future of our country (3).
@ 1 ®) - 2
©) 3 | O 4

In spite of the best governmental efforts emission of greenhouse gases (1) / and noxious

gases (2) / remain a cause of worry (3).
A 1 B) 2
© 3 D) 4

The sole idea behind conducting such programmes (1)/ is to create awareness (2)/ among

young minds of our nation (3).
@ 1 , ®) 2
(€ 3 D)y 4




156.

157.

158.

159.

160.

In each of the following sentences there are two blank spaces. Fill up the blank
with the best pair of words in the option given below to make the sentence

grammatically correct and meaningfu'lly complete.

The teacher must the unique style of the learner in order to it to

the desired knowledge

(A) advocate, direct (B) perpetuate, develop

(C) appreciate, focus (D) discover, harness

Opportunities when they are seized and when they are not.

(A) “gather, evade (B) needed, reflect

(C) create, disperse (D) multiply, die

He a wrong act because it was ' for him to do so due to

circumstantial forces.

(A) compelled, necessary (B) refused, dangerous
(C) committed, inevitable (D) dual aspect, concept
The police - a gang ' in duping the Tele-banking customers

and arrested 10 persons.

(A) caught, dealing ; (B) Dbusted, specialized

(C) arrested, setting (D) wanted, criminal

The numbers by the online music service providers indicate that the
growing number of users are to buy music.

(A) morphed, ignoring | . (B) labelled, thriving

(C) touted, willing _ (D) figured, fanatic

15 JSA-II




161.

162.

163.

164.

165.

166.

167.

In each of the following gquestions, an jdiomatic expression with its possible

meanings is given. TFind the correct meaning of the idiomatic expression.

He was in high sprits when I met him in the restaurant.
(A) ina drunken state (B) ina cheerful mood

(C) talking excessively (D) deeply engrossed in thoughts

The barebones of the conversation had been that he hated my guts.

(A) naked truth (B) - main point

(®)) detailed analysis (D) angry behaviour

He ate the humble pie at the end.
(A) Ruined (B) Honest’
(C) IApologized (D) Refused

He took the bull by its horns.
(A) Surrendered (B) Put all his courage and strength

(C) Ranaway (D) Protected the animal

He beats about the bush
(A) ‘talks continuously (B) does not speak specifically
(C) speaks well D) ‘talks angrily

Rakesh tried hard to bury the hatchet with Rita
(A) tosettle the disputes (B) tomeet

(C) to go outing _ (D) toimpress

The Manager behaves in a high handed manner with his staff.
(A) lending hand ' (B) helping
(C) arbitrary | (D) polite

JSA-II 16




168.

169.

170.

171.

172.

173.

174.

175.

Find out the word which are OPPOSITE in meaning to the w-rords given below.

Pivotal
(A) Irrelevant

| (C) Auspicious

Raucous

(A) Strident (B) Harsh

Mundane
(A) Extraordinary
(C) Severe

Tepid

(A) Moderate (B) High

(B) Unmanageable
5}

©

B)
)

(&)

Calm

Rough

Regular
Routine

Warm

(D) Soft

(D) Little

Find out the words which are SYNONYMOUS in meaning to the words given

below.

Skeptic
(A) Orthodox (B)

Abate

(A) Rise (B) Gear

Lofty
(A) Deserted
(C) Solitary

Vivacious

(A) Imaginary
(C) Languid

Thesist

17

(©)

(€)

(B)
(D)

(B)
(D)

Analyst

Lessen

Exalted
Adrift

Lively
Perceptible

(D) Peaceful

(D) Hurt

JSA-II




176.

177.

178.

179.

180.

181.

182.

In each of the following sentences there is a blank space. Fill up the blank with
the best word in the option given below the question to make the sentence
grammatically correct and meaningfully complete.

Is not learning superior wealth?

(A) than o ®) from

(C) to : (D) by

The publisher is bringing a revised edition of this book.

(# Up (B) Out

(C) From _ (D) About

After qﬁickly writing her essay, the college student wanted to her essay by
proof reading and editing it.

(A) Tweak (B) Rectify

(C) Grapple _ (D) Deprecate

With the budget deadline just around the corner, the government does not have time to
about petty issues.

(A) Deter (B) Ponder

(C) Strive : - (D) Hear

The flight was by a/an : :

(A) Smuggled, Philanthropist (B) Kidnapped, Theist

(C) Abducted, Atheist _ (D) Hijacked, Extremist

Ram is topper of the class and he is good Mathematics.

(A) at : (B) in

(C) with ' ' (D) on |
' !

| |
When I reached the station, the train already left. !
(A) have (B) has

(C) was (D) had

JSA-II 18



183.

184.

185.

186.

187.

188.

Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence to form a meaningful paragraph; then answer the questions given
below:

(A) But the conventional wisdom is wrong.

(B) The assumption is that plantiﬁg trees and avoiding further deforestation provides a
Convenient carbon capture and storage facility on the land.

(C) Considering all the interactions large-scale increases in forest cover can actually
make Global warming worse. | '

(D) Deforestation accounts for about 20 percent of global emissions of carbon dioxide.
() that is the conventional wisdom

(F) In reality, the cycling of carbon, energy and water between the land and
atmosphere

Which of the following should be thé SECOND sentence after rearrangement?
A) A B B © C (D) D

Which of the following.shouid be the THIRD sentence after rearrangement?
A) A B) B € F D) E

~ Which of the following should be the FOURTH sentence after rearrangement?

(A) A @) B © C D) E

In each question below a sentence broken into five or six parts. Join these parts
to make a meaningful sentence. The correct order of parts is the answer.

[1. at 2. it 3. take 4. once 5. Away] _
(A) 23514 (B) 14352 (C) 32514 - (D) 42315

[1. killed 2.a 3. Jaswant 4. Bear 5. Wild]
(A) 31254 (B) 53124 (C) 23145 (D) 15234

[1.not 2. Hari 3.away 4.run 5. Did]
(A) 13542 (B) 52431 (C) 25143 (D) 21345

19 JSA-II




B |

(Direction: 189-193) : Read the Passage carefully and answer the questions given
below: '

Mahatma Gandhi believed that industrialization was no answer to the problems that
plague the mass of India’s poor and that villagers should be taught to be self-sufficient in
food, weave their own cloth from cotton and eschew the glittering prizes that the
20tk century so temptingly offers. Such an idyllic and rural paradise did not appear to those
who inherited the reins of political power.

189. The meaning of ‘glittering prizes that the 20th century so temptingly offers is
(A) pursuit of a commercialized material culture
(B) replacement of rural by urban interests
(C) complete removal of poverty

(D) absence of violence and corruption

190. The basis of ‘an idyllic and rural paradise’ is
(A) rapid industrialization of villages _
(B) self-sufficiency in food clothes and simplicity of the lifestyle
(C) bringing to the villages the glittering prizes of the 20t century
(D) supporting those holdings powerful political positions

191.  Which one of the following best illustrates the relationship between the phrases?
(1)  ‘eschew the glittering prizes’ and
(i) ‘idyllic and rural paradise’?
(A) unless you do (i), you cannot have (i1)
(B) (i) and (iij are identical in meaning
(C) first of all you must have (ii) in order to do (i)
(D) the meaning of (i) is directly opposite to (ii)

192. Mahatma Gandhi’s views opposed industrialization of villages because
(A) it would help the poor and not the rich
(B) it would take away the skill of the villagers
(C) it would affect the culture of the Indians
(D) it would undermine self-sufficiency and destroy the beauty of life of the villager

193.  Mahatma Gandhi’s dream of ‘an idyllic and rural paradise’ was not shared by
(A) those who did not believe in the industrialization of the country
(B) thDSEIWhO called him the Father of Nation
(C) those who inherited political powers after independence
(D) those who believed that villages should be self-sufficient in food and cloth
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194.

195.

196.

197.

198.

199.

200.

(Direction : 194-196) : In the questions below the sentences have been given in
Direct/Indirect speech. From the given alternatives, choose the one which best
expresses the given sentence in Indirect/Direct speech.

I told him that he was not working hard.
(A) I said to him, “Yolu are not working hard.”
(B) 1 told to him, “You are not working har.d.”
(C) Isaid, “You are not working hard.”

(D) I said to him, “He is not working hard.”

The little girl said to her mother, “Did the sun rise in the East?”

(A) The little girl said to her mother that the sun rose in the East.
(B) The little girl asked her mother if the sun rose in the East.

(C) 'The Little girl said to her mother if the sun rises in the East.

(D) The little girl asked her mother if the sun is in the East.

"Piease don’t go away”, she said.

(A) She said to please her and not go away.
(B) She told me to go away.

(C) She begged me not to go away.

(D) She begged that I not go away.

Find the correct spelt word:
(A) Acommodation (B) Accomodaton

(C) - Accommodation . (D) Acomodation

Find the correct spelt word: :
(A) Gaurantee (B) Guarantee (C) Garuntee (D) Guaruntee

Find the correct spelt word:
(A) Parliment (B) Parliament (C) Parlliament (D) Parlimant

Spot the error in the foll{.)wing sentence:
He has been arrested by the police

(A) was been (B) have been (C) was being (D) no correction
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